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n=0

(e 0]
=y'(x)= z nC X" 1ix

n=1

o 9] 0
= > nC, X"t =2xY C X"
n=1 n=0

o0 o0
= > (n+1)Cp1 X" =2 Cp X" =0

n=1 n=1
o0 o0
= > nc, X"t -2 c x" =0
n=1 n=0

o0 o0
=| D (n+1)Cpp1 —2D Cpq |X" =0
n=0 n=1

o0 o0
= > (1+1)Cpyy—2D.C, 1 =0

n=0 n=1

(—)é n=O,F‘$,C1 =0

O% n=1,2,3..5%, ) [(n+1)C,1 —2C, 1]=0

n=1
jr— (n + 1)Cn+1 - 2Cn_1 = 0

2
=C,,q=——-U0C, 4,n=1,2,3,...
n+1 n+1 n-1
1.n=1:>C2=C0,C0:‘:; f{i?%

2
2. n:2:>C3:§C1:0

1 1
3.n=3=>C;=—-C,==C(
4 2 2 2 0
2

4. n:4:>C5:EC3:0

1 1
5 Nn=5=C=—C,=—C
6 3 4 6 0

o0
~y(x) = Z C, X"
n=0

=Co +C X +CoX? +CaX3 +Cy X +CoX® +CoX® +...

1 1
=Cp +CoX? +5C0X4 +gc0x6 +...
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SE R R (104 % %)

CEALA R A3 R - 3 x 3 B M ik fic e (eigenvalues), f B P L =324 o M i
{7 715¢ i (determinant) = 36, # " (trace) s 10 £ | 5 3 x 3 H# & (identity matrix), 3
35 9 (MH)2 2 2 384 i

(3% ]

{Al + A, + A3 =trace(M)=10

I

Al 'Az 'A3 :det(M):36

x Al'AZ'A3:; fﬁé—g{,Az :A3 ;tAl
3A1:4,A2:A3:3

1 0O
X/=/0 1 0

0 01
DM—[i%g'gIEéA1:3,A2:A3:2
= (M- 2 B A 54,5,
¥ 59,4,4

Z ~E XBY IS 3 4 ang i % #(independent random variable), ® # % & % & S0#c
(probability density function) 4 %] 4 77 4e7F :
1/2,1<x<3 1/3, 2<x<5
fx) ={O,elsewhere K ={0, elsewhere
ZW=X+Y o
O W s 5 % R S fic(probability density function) f, (W) -
O# & fy (W) 2 S RlA) -
[#%1]
)
VX YR BT SR

11 1
:>fxy(X,y)=fx(X)fy(y)=E><§=g,1SXS3,2SyS5
{W=X+Y {x:u
=® =
Uu=X Y=W-U
x
jjzﬁ(x,y):au ow|_|1 0:
Ouw) |0y oy| |-1 1
ou ow

1
:>fUW(u,w)=g, 1<u<3,3sw<8, 2<w-u<5

-21 1 1
1.33w<5:>fw(w):jlw gduzg(w_g)_%_z
31, 1
2.sgw<6:fW(W):Lgduz5
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SRR (104 % %)
3
31d1 4
6

GSw<8:>f,,‘,(w):.|.|,v_5 u:_(g_w)zg__
W licwes
6 2
1
-‘-fw(W): 5;5£W<6
2 W oe<w<s
3 6
O
fw(w)
A
14
21
H
" R ———
/—\ -
1 23456178

4
T~ L REBD A G OSyS\M—xz,OSXSZ,ﬂ“\ﬂD(xz+y2)AdA > (10 &)
[#5%1]
D:0<y<\4—-x*0<X<2

{X:rcosﬁ X +y?=r?
£ =
Y =rsing dxdy = rdrd8

4 n 4
J'J.(x2 +y%)3dA= JEL? (r?)3 rdrd®
D

i 317
:j212r3drd6:12 47'(
0 Jo 7

o RlBATI A
O 15 g 3-F=2xyi + xe¥ j + 22k 18 p=(-1,0,2) c% & (cur]) 3 i»?
A2i—j+k B —j+2k © —ej+2k D)3k

D 2 #* diverigence theorem, f& # 4 / =Uj (X3dydz+x2ydxdz+xzzdxdy) ,H Y S5 — 4
S

G ,¢ 35— MHee x*+y?=a>(0<z<b) % t.2=02% z=b2 = Fl& # (x* +y* <a°)
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AR R (1043 3)

<A>3” 4 ®" > 44 (C)—a4b R LY
B 3. 'L;’&ﬁ‘v&:—;\ (x,y,z):xy—yz+xyz,éf;-?ﬁ'¢ ,f!l\,k-P:(O,—l,l)tLU:I+j+k"5 w e % ¥ (rate of
change)?
2 B)-2 ©OA5 (VBN
D 4. Fw £ F=i-3kG=2j,A=|F+G| 5 F+G 1 2-norm, | A & 5 :
(Wi+2j—3k B)i+2j+3k ©14 D14
B 5. 1 -1 -1
-EEM=|1 3 1|, 7P E R
-3 1 -1
A M 7 %4 i
1 1 0 -2 0 0
B et p={1 -1 0|, @P MP=|0 -2 0
0 0 1 0 0 3

O M 2. # e iE (eigenvalue) 5 2,-2,3
D) &7 W4 Q, % # QMQ=D,8 M D 3 4p 114" (similar matrices)

D 6. a b c a+g b+h c+i
@ irld e f|=20,Rll-2d -2e -2f|2 {5 iP?
g h i -2g -2h -2i
GUY ® 20 © 40 D) 80
@ 7. 0 1 0
KA=10 0 1|,77FF3LAHEFAE (eigenvalue)?
4 -17 8
A 2 ® 4 ©2+3 D2-3
D) 8. 27 1 1
- M=-1 2 -1|,T AR 4 ER
-1 1 3
5 16 9
AWM=l -2 -5 -23
23 9 11
19 0 0
®M3-7M? +19M=| 0 19 O
0 0 19

O M 2_ i % 38 ;% (characteristic polynomial) 3 X —72 +191-19

OYM* =30M% —114M +1397

W 9. 3F3h 5 47 8, 5 78 ;X (complex polynomial) p(z)=2% —57% + 23 -2; ’L‘+,|z|:1 GIflp G 5O BE

8L(zeros)?(# #& £ 4f #(multiplicities))

A1 B 2 ©3 D) 4
O 10'350%|2|=21i§£353£i‘%ré~7 FHE W AP 52—_d27 BEL@?
Cz(z-1)
Ao B)i2r ©iern D)i10m
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B3 ERAL (104 3 4)
© 1L g (6-2)1+i) 7 @:

A4i+8 B4i-8 O©-4i+8 D)—4i—8
A 12 0,0<t<1
RN dﬂz SRR SR f(t)=11,1<t<3 2P HriEE?
-1,3<t
wles 2e3  @les 263 lesiZe® plesile™
s s §2 2 s s s s
D) 13 T APR- B¥ B B S AR 5 1R A (elliptic)?
2 2 2 2 2 2 2 2
WwZ 10078 -0 p M _0T¥ 0 TUa Tl Tl o pTU Tt g
oy Ox oy Ox 194 oxXoy oy ox“ oy
B 4 xy'+2y=x>y%,y =2
1 1 1 1
B 53 © 5 D) 3 2
C—x Cx~ —x Cx—Xx Cx° —x
W B 2 1 e"-1
£ f(t):?——+ > A>0,% F(s)=L{f(t)} & f(t) = & ¥ & #7# # (Laplace tuansform),
T m
FFRF2r)?
3 3 1 1
(A)—3 (B)—2 (C)—3 (D)—2
8n 8n 2n 2n
I6.
® 1 —E,—n<1<0
© ek i 2m 2 i S ¥ f(t)= R CE IS SN UL A LN '
E,O<t<rt
2
. sin3t  sin5t , iy o = v .
2(3|nt+ c +) od PEET NAAERY FrnakoriE sl
- 1 - 2
A B
Z_“Zn—l Z_“Zn—l
n=1 n=1
0 1 1 0 1 2
n+ n+
O2 0™ — O Y ()™
n=1 n—— n=1 n——
2 2
B 17 ~ 71 i@ '-F'k 7 &3 3 A3 4758 (Laplace Equation) Vzu:Oéﬁﬁ;’ ?
A x+y+xy+4z (B)x2+y2+xy+yz+zx
(C)x3—3xy2+zx (D)In(x2+y2) » Ho¥ x2+y2¢0
B 8 0,8 x<1
1/4,£1<x<3
B EWRBE X A AT L F(X)=11/2,%3<x<5 > FK PX<5|X>2)=?
3/4,5<x<7
1,57<x
A 1/4 ®2/3 O1/2 D) 3/4
OB - emmamting 5o 50 u5 DA T S - o R S -
EELE N R . N
1 1 1 3
A — B— (@GR D) —
20 10 4 10
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B 20 BES BEWREX oY B 45 % AR S ¥(joint probability density function) 3

4xy,5 0<x<1,0<y<1
f(x,y)={ Q. 05 VS5 sapopix<y)=2
A1 ®1/2 ©1/3 D) 2/3
£6F %61 2 B E 4 2 KB sk http://waiw. public. com. tw



http://www.public.com.tw/

